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4.1 PSMT (Perfectly Secure Message Transmission)

4.1.1 PSMTUOOOOOOOOOO
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4.2 ASMT(Almost Secure Message Transmission)

4.2.1 ASMTUOOOODOOOOOO
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O O Second Preimage Attack 0 0 0D 00O O0D0O0ODOOOODODOODOODOOO
O0¢t0000000 0 Second Preimage Attack U D 0D 00D DOOODOOODOO0O
OO0D000eO0DO

eJ (000000 HOO SecondPreimageAttack 0 DO 0000 xt (4.2)
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Attack 00000000 1/2" 0000000000 (4.2)0

t
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000000000s0000¢000000000000S00000
15| = 21 (4.4)

00000000 (0 ((4.1)00 4300 (44)00

15| -1 21 — 1 9h(2¢ — 1)
10 l1=—
T T i

X, O +1 (4.5)

O00000BasicO0OODO0O0OO0OD0OO|X;|00 4500000000000
Oob0ooOobooooboooooooobouobbooooooboogleg,onO

2M(20 — 1 2M (29 — 1
log, | X;| O logQ{(t)—i-l}zlogz{W}

= log, 2" +log, (27 — 1) —log,t ~ h + q — log, t (4.6)

00000000000 X,0000000¢i0000000000 f()0
H(f(1))OH(f(rn)0D0DOO00D0s0000¢0000000000 f(6)0¢00
00000000000 AROO0O0O00O0O00 |X,|0¢+mO000000000
0 (5.5) 0

q+ hn =1log, | X;| 0 h+q—logyt
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O0000BasicOUODOODOODOODOODOODODODODODODODODODODOOO
OO000BasicOUODODOODODODOODDOOOODODOODODOODOODOOD
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goo
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O00D000D0 5.1 SendObject
//000000ali][j]000

for ( i=0;i<S_loop;i++ ) {

a[i] = new Array(2); //200 000
] = new Biglnteger (GenerateKey(256));//256bit0 000 0000
al ] =ali][0)].mod(P); /00000000000 O000
a[i][1] = new Biglnteger (GenerateKey (256));//256bit0 0000000
ali][1] = ali][1]. mod(P);

//Fs_send [i][j]0 OO

for ( i=0;i<S_loop;i+t+ ) {
S_bigpiece[i] = new Biglnteger (S_piece[i]);
//Biglnteger0 OO O OO0

for ( i=0;i<S_loop;i++ ) {
Fs_send[i] = new Array(5); //Fs_sendd0200000

for ( i=0;i<S_loop;i++ ) {
for ( j=0;j <5;j++ ) {
g = new Biglnteger(j.toString()); //g0j000
BItemp0 = new Biglnteger (”17);
g = g.add(Bltemp0); //g0+10000(1°5000000)

Bltemp0 = a[i][0]; //a[O]
Bltempl = BltempO.multiply(g); //a[0]xg

Bltemp0 = a[i][1]; //a[l]
Bltemp2 = g.multiply(g); //gx*g
Bltemp2 = Bltemp2.multiply (BItemp0); //a[l]xg"2

BItemp0 = new Biglnteger (70”); //f(g) =0

BItemp0 = BltempO.add(BlItempl); //f(g) = a[0]xg

BItemp0 = Bltemp0.add (BlItemp2); // f(g) = a[0]*xg + a[l]*xg 2
BItemp0 = Bltemp0O.add(S_-bigpiece[i]);

// f(g) =S + al[0]*g + a[l]lxg"2

Bltemp0 = BltempO.remainder (P);
// f(g) =S + a[0]*g + a[l]*g"2 mod P

Fs_send[i][j] = BltempO;
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47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
T
78

//00000Hsend[i]00 O
for ( i=0;i<5;i++ ) {
H_string [i] = Fs_send [0][i]. toString ();
if (Sloop>1){//2000000000000000
H_string[i] = H_string[i].concat(Fs_send [1][i].toString ());
if (Sloop>2){//3000000000000000C
H_string [i] = H_string[i].concat(Fs_send [2][i]. toString ());
}
}
H_send [i] = GenerateSHA1(H_string[i]);

}

//0000D0D000
total =5 4+ S_loop; // OOOO0OOOO + 0000
for( i=0ji<total;i++ ) {

F_send[i] = new Array(10); //F_sendOd 200000
}

for ( k=0;k<5;k++ ) { //60 0000

for ( i=0;i<S_loop;i++ ){
F_send [k][i] = Fs_send[i][k];
//000000000Fs.sendDODODOOO
}
for ( j=S_-loop;j<total;j++ ) {
F_send [k][j] = H_send[j—S_loop];
//Fs_send0 00000000000
}

}

0O0000o0o0o0O0o0o0

1.120 3400 0000000 H(F)OHF,)0O00O

2.490 7400 00000000000 O00000O0000000
376010600 000000000O00000O00

4. 10801400 OO O0OO0OmODOO0OOODODOODOOODSOOO

000000 5.2 ReceiveObject
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for ( i=0ji<total;i+t+ ) {
F_receive[i] = new Array(10);

for( i=0;i<5;i++ ) {
for ( j=0;j<total;j++ ) {

//F_received 200 00O

F_receive[i][j] = F.send[i][j];

//00D00000000

//0000000H._receive[i]O 00

ooDooo0ooao

=1
i = 0y
k = 0;
flag = 0;
while( j < 5 ) {
flag = 0;
for( j=S_loop;j<total;j++ ) {
for ( k=i+1;k<5;k++ ) {
if ( F.receive[i][j] = F_receive[k][]j]
flag+-+;
}
}
if ( flag >=2 ) {
H_receive[j—S_loop| = F_receive[i][j];
}telse{
i++;
i—=;
flag = 0;
}
}
}

//f-receive[i][j]0 0000
for ( i=0ji<total;i4++) {

f_receive[i] = new Array(10);

for ( i=0;i<S_loop;i+t+ ) {
for ( j=0;j<5;j4++ ) {

//f_revceived 200000

f_receive[i][]j] = F-receive[j][i];

//00D00000f(g)0

oooao

) A
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65
66
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70
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82
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87
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89
90
91
92
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94

//00000f_received 0000 DOOO

for ( i=0;i<5;i++ ) {
H_string [i] = f_receive [0][i].toString ();
//H_stringd 0000000000
if (Sloop>1){//2000000000000000
H_string[i] = H_string[i].concat(f_receive [1][i].toString());
//H_stringD OODODOOOOOO
if (Sloop>2){ //3000000000000000

H_string[i] = H_string[i].concat(f_receive [2][i].toString());
//H_string0 00000 DOO0OOO
}
}
H_calculate[i] = GenerateSHA1(H_string[i]);

//f[g] 0 0 O O H_stringO GenerateSHA1 ()0 OO OO OO0ODODODO0O00O0

//000o0o0oo0aon

flag = 0;
for ( i=0;i<5;i++ ) {
if ( H.receive[i] == H_calculate[i] ) {
select [flag] = 1 + 1;
flag++;
}
}

//0000 ODO0OOoOOoDOooooooao

for ( i=0;i<S_loop;i++) {

select [0] = new Biglnteger (select [0].toString ());
select [1] = new Biglnteger (select [1].toString ());
select [2] = new Biglnteger (select [2].toString ());

Bltemp5 = new Biglnteger (”0”);
//0000o00o00o0ooo0ooo0o0ooooooao
for ( k=0;k<=2;k++ ) {

Bltemp3 = new Biglnteger (”1”);

//lf0000o00o0o0o0oopooboOooooooooao

for ( j=0;j<=2j++ ) {

P ji=k ) {
BItempO = modsubtract (Blzero ,select[j],P);

/] x — x2
Bltempl = modsubtract(select [k],select[j],P);
// x1 — x2

Bltemp2 = moddivide (BItempO , Bltempl ,P);
J/(x—x2) / (xl—x2)
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95 Bltemp3 = modmultiply (BItemp3, Bltemp2,P);

96 /) ((x—=—x%x2) / (x1 —=x2)) = ((( x—=x3 ) / ( x1 —x3))
97 }

98 }

99 BItemp4 = modmultiply (f_receive [i][select [k] —1],Bltemp3,P);
100 // Bltemp4[0] = f(x1) *« (( x — x2 ) / ( x1 —x2 )) = (( x—=x3 ) / ( x1 —x3))
101 BItemp5 = modadd (Bltemp5 , Bltemp4 ,P);

102 // Bltemp4[0]+ Bltemp4[1]+ Bltemp4 [2]

103 }

104 decryption[i] = Bltemp5;

105 //000000BItemps00000O00O00ODOODO

106 }

107

108 S_decryption = decryption[0]. toString ();

109 if ( S_loop > 1) {

110 S_decryption = S_decryption.concat(decryption[1].toString ());

111 if ( S_loop > 2 ) {

112 S_decryption = S_decryption.concat(decryption[2].toString());
113 }

114 }

gbboooobbdaao
1. 101vob oobboogobbooooboboon

2.2004500 000b0o0ob0bboOoobbooOobobg

000000 5.3 FalsifyObject

1 //00000Dn

2

3 i = o0;

4 flag = 0;

5 while ( i<2 ) {

6 flag = 0;

7 attack [i] = Math. floor (Math.random ()*100)%5; //1°50 0 0000000
8 for ( j=0; j<i; j++ ) {

9 if ( attack[j] = attack[i] ) {
10 flag = 1;

11 }

12 }

13 if ( flag = 0 ) {

14 it

15 }

16

—
-
-
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18

19

20 //0 0

21

22 for ( i=0ji<total;i++ ) {

23 F_receive[i] = new Array(10); //F_received 200000

24 }

25

26 for( 1i=0;i<2;i++ ) {

27 for ( j=0;j<total;j++ ) {

28 F_send [attack[i]][j] = new Biglnteger (GenerateKey (160)).mod(P);
29 //0 000000 ¢totald160bit0 000000

30 }

31 for ( k=0;k<S_loop;k++ ) {

32 F_send [attack [i]][k] = new Biglnteger (GenerateKey (256)).mod(P);
33 //0000000S.lecopd 620000000000

34 }

35 }

36

37 for ( i=0ji<total;i+t+ ) {

38 F_receive[i] = new Array(10); //F_received 200000

39 }

40

41 for ( i=0;i<5;i++ ) {

42 for ( j=0;j<total;j++ ) {

43 F_receive[i][j] = Fsend[i][j]; //0 0000000000000 00000
44 }

45 }

5.3 UUULUOLOUOOO

gboobobbogobogbooboboobuoobooooboboon
gobooboboogooobobobbdooooobbboooooobbbooo
gbooboobobobooboobooboobobuoobooboobon
gbobooboboboobobn
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6.1.1 00000 @MOOO0DO0DoDooon)

000000000000 IPO00O00O0OOOOOOOODOOO TCP/IPO
ooboobobooboboobbooobobooo IpboobbooobobOOO
oobooOooobooboogooooobooobo IpODODbDOOO0ODOODO
OoooooooboIpO0O0O0O0OOOO0OO0ODOOO0OOODOOOOODIPDOO
gbobbboduooodgbbbobbodoodoobbbbodooodoobbbodan
OO0 IpO0000O0O0OO0OO0ODOOO0ODOOODOODOODOOOOODOODOO
gbobobodobobuoboobobuobboobobuoobobobobo
gbooIipooboobDogon
gbouogbobodgboobbobbuodboobobuodobbobobooboo
gbbboooobbodgnbboo

e 1. U UOOOODOODOO
gboogobobuoobbogbooobuoobboobooobuoobn
gbooobbogboboobuodoboobbobobooboobboobD
gobogooboboooobo

e 2. JUUOOOOOOOOOU
gbobboogobbobuooogbbobboooobobboooobon
gbooogbbogbodgbdogobuodgbuogboooboobobbon
gboogbobuogobbodgboooboobbodobbooboobb
goobobodobboooobboooboboobooooboooganb
gboboodobboogobbuogooboogobobooobbooobn
goobuogoooooobuobboouobboboooobboooobn
goggbooobobobobobuouotoddoooooooooooooog
good
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6.2 UUUUOOOOOOOOOOOO

oo obbuoobboooboobbooon
godoobobooogoooobob oo bbbuoooooboboo
gooboodobooboboboodtboooobooobobboouoboon
OoooooooOOoOoOOOOOOoOgTCP/IPODOOODOODODOOOODODOOO
0000000000000 0O000ooO0oooooooOoOooTCP/IPOOO
gogogoggogogooooboobooboboobbbidddddooo0oydougg o
gobboodggbbbdoogoobooguonbboooonboooon
00000000000 (strict source routing) 0 0000000000000
gobobogdoboobooobbuooobbuoodoobbbooobbooa
0 O 0O (loose source routing) 0 20 000000 61000000000000
goobodooboooobb bbb uooooboooobobn
oo oooagd

ge2000D00bbObbObbbbbbbbUbUoooooooooOogad
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6.3 0UOUOO

0 8 16 24 31

f f f f f
|[IP vers|hdr len | TOS | total length / fragment length |

| f f —t+—+— f

32 | id number |R|DF |MF| fragment offset |
| 1 T | | I

[ T T T T T T

64 | ttl | protocol \ header checksum |
I 1 : :

96 | src IP |
| f
128 | dst IP |
Il

T

160 ~ options field (var. length — max. 40b — 0 padding to 4b mult.)

- DATA (zero padding to 4 byte multiple)

IPOO0O0O
0 78 15 16 23 24 31
f f f f f
| Source | Destination |
| Port | Port |
f f f 1 f
| | |
| Length | Checksum |
I l I 1 I
| |
| data |
I I

ubPOODO O

goooooboobogobgbgoboIlph0obOobOobOobOobubPhOnDO
gboboboodgbbduoge2bbdbbboobbuooobbuodgbbon
gbboooobo

6.4 00

goood
Odorald0 0000000200000
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ooonog
OoO20000000000000D00O0DOODODODODDODODODUOASB
-A-BOOOOOOOOOODOOODODODOOOOODOOODOODOOO
gbobooboboobooboboboobobobobooboobobon
oogo

11:02:42.226116 IP pudding.ee.kanagawa—u.ac.jp.52564 > sattin.12344:
UDP, length 5
0x0000: 0023 18ec 995a 00lc c058 920c 0800 4800 .#...Z...X....H.

0x0010: 002d 0000 4000 4011 b283 8548 58e7 8548 .—..@.@....HX..H
0x0020: 58e4 0183 0b04 8548 58e4 8548 58e4 cdb4 X...... HX. . HX..T
0x0030: 3038 000d 6259 4845 4c4c 4f00 08..bYHELLO.

OoobooooTCebumpO OO OODOOoDDOODODOOOOOODDODODO
ooooTrTeebO0bOO0O0OoOoboOOobOO0obObOOobDODOoDbDOODbDOoODODO

#tcpdump host 133.72.88.231 —XX

013372882310 000000000000 DOODOOODO

8548 H8e4 [ [0 133.72.88.22800 0 U O O O [ [0 8548 H8e7 [0 J 133.72.88.2310 0 O
0008858400 0133.72.882280 0 0 0 0000000 oooooond
goo
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70
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71 OO0O0oogon

OO0ooubpOO0DDOODODODOODODOOTCPODOODODOODODODO
gobooboobboboobbooboobobuoobbooobuooboboo
gbobooboboboobobobod
gboobboobbooboobboobboobooobooobon

gooo

#include
#include
#include
#include

int
main ()

{

© 00 N O Utk W N

—_
o
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<stdio.h>
<sys/types.h>
<sys/socket.h>
<netinet/in.h>

int sock;0 O OO
//0000000

11 struct sockaddr_in addr;
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13
14
15
16
17
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28
29
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31
32
33
34

char buf[2048];

sock = socket (AF_INET, SOCKDGRAM, 0);

addr.sin_family = AF_INET;
addr.sin_port = htons(12345);0 O

//bind

ooIlIpooooOooOOoOoOOOOO

addr.sin_addr.s_addr = INADDR_ANY;

bind (sock, (struct sockaddr x)&addr, sizeof(addr));O
//000000000D00D0©bIindOOO

memset (buf, 0, sizeof(buf));
recv (sock, buf, sizeof(buf), 0);

//0 00

ooo0oao

printf("%s\n”, buf);

close (

sock );

return O;

}
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#include
#include
#include
#include
#include
#include
#include

gooooog 7.2 UybpOOOOODOO
<stdio.h>
<unistd .h>
<sys/types.h>
<sys/socket.h>
<netinet/in.h>
<arpa/inet.h>
<memory . h>

#define IPOPT_NOP 1

int

main(int argc, char xargv|[])
//00000

{

int sock;

struct

sockaddr_in addr;
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30

int n;

if (arge !'= 2) {

fprintf(stderr, ”"Usage : %s dstipaddr\n”, argv[0]);
return 1;

}

sock = socket (AF_INET, SOCKDGRAM, 0);

addr.sin_family = AF_INET;

addr.sin_port = htons(12345);
//000000000D0D00D0DO0DDODODOD

//inet_pton (AFINET, argv[l], &addr.sin_addr.s_addr);
addr.sin_addr.s_addr = inet_-addr (”7192.168.1.11"7);

3100//0000000000

32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63

typedef struct

{

unsigned char Nop;
unsigned char Code;
unsigned char Len;
unsigned char Offset;
unsigned long Addrs[2];
JLSR;

LSR SourceRoute;
memset(&SourceRoute ,0,sizeof (LSR));

SourceRoute .Nop = IPOPT_NOP;

SourceRoute.Code = 0x89;
//0000SSRRODDODDODOOO0S830000SLRRODODO
SourceRoute.Len = 11;

SourceRoute. Offset = 4;

SourceRoute.Addrs[0] = inet_addr(”192.168.1.10");
SourceRoute.Addrs[1] = inet-addr(”192.168.1.11");
//00IPO0D0D0OOOOO 0D00192.168.1.1100000000

n = sendto(sock, "HELLO”, 5, 0, (struct sockaddr x)&addr,

//0000000000
if (n< 1) {
perror (” sendto”);

return 1;

}

close (sock);

return O0;

sizeof (addr));
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0000000000000 FedoraldD DD OODO0OODOODOO /fete/sysctl.conf
000000000000

net.ipv4.conf.default.rp_filter=1
net.ipv4.conf.all.rp_filter=1
net.ipv4.ip_forward=1

net.ipv4.conf.all.accept_source_route = 1
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